>H SERIES

HIGH SPEED THROUGH-HOLE ROTARY HYDRAULIC
CYLINDER

NNREE. hREENHSA, EEAR (MAXSmmEHE ) , 8 (MA

e X4.5kgl i ) BREWENEEERE, SRERMYANE.
® v FEAWEEL: ENEQHROERE0%NEEI, TEERNES
® N ENHER.
13

Z2EE: FLEOMNARRBEINEE,

-

Compact and light weight :

Comparing with the regular product, it is compact (reduced to MAX 95mm)
R and lighter (weighted MAX 4.5kg).

It's more stable to reduce the burden of the machinery at high speed turning.
The largest bore : Comparing with the regular product, it has about 20% larger
bore diameter forutilizing the capacity of machinery.

The safety structure : It can retain the gripping force by check valve.

B na e lke)  POEGE . Mex OpemingPeseure BEEME  mims  (EE - mws

Model (mm) " push Side / Pull Side Push Side / Pull Side (mm}) MPa(kgt/ cm?) maxr.p.m  kgem (kg) L/min
H-0928 90 53.2/48.3 19.9(2029) / 18(1835) 10 4.0 (40.8) 8000  0.006 5.5 3
H-1036 105 71/68.5 26(2651) / 25(2549) 15 4.0(40.8) 8000 0.011 8.6 3
H-1038 105 71/66 26(2651) / 24.5(2498) 15 4.0 (40.8) 8000 0.011 85 3
H-1236 125 100/89 38(3875) / 33(3365) 15 4.0 (40.8) 7000  0.019 13 3
H-1246 125 100/89 38(3875) / 33(3365) 15 4.0 (40.8) 7000 0.019 12 3
H-1546 155 161/154 60(6118)/57.8(5894) 22 4.0 (40.8) 6200  0.056 18 3.9
H-1552 155 161/150 60(6118) /56(5710) 22 4.0 (40.8) 6200  0.052 16.8 3.9
H-1868 180 198/197 74(7546) / 73.5(7495) 25 4.0 (40.8) 4700  0.098 28 4.2
H-1870 180 198/183 74(7546)/69(7036) 25 4.0 (40.8) 4700 0.095 26.5 4.2
H-1875 180 198/183 74(7546) / 63(7036) 25 4.0 (40.8) 4700 0.095 26 4.2
H-1878 180 198/183 74(7546) / 69(7036) 25 4.0 (40.8) 4700  0.095 255 4.2
H-2078 205 262 /234 98(9993) / 88(8973) 23 4.0 (40.8) 3800 0.15 36.5 4.5
H-2085 205 252/234 94(9585) / 88(8973) 30 4.0 (40.8) 3800 0.15 375 45
H-2091 205 252/234 94(9585) / 88(8973) 30 4.0 (40.8) 3800 0.15 37 4.5
H-2511 250 348/336 124(12644)/120(12236) X} 4.0 (40.8) 2800 0.45 57 7
H-25118 250 348/336 124(12644)/120(12236) 23 4.0 (40.8) 2800 0.41 53 7
H-2416 290 418.4/375.4 110.6(11286)/99.2(10125) 35 3.0(30) 2000 1.12 78 9

REENELNER, BFBITEH Subject to technology changes without prior information
IEAEEKARTH Non-standard requirements can be made

I31LVINO



A1 B1
J1 41 o X L z
P1
f
. 1
T4
2x2-51 : —=
®©i"\ =
N imig AN i 5 5 g
A mc&-z o—-—c— E LW _dlo|u[THa o5
- -] S8 % 2 ay HIEIEE NN
:} - - f B (o1 T ST
=
———7~ E\% AN
- / \
i N\ H
] : T =
i PT1" BN
i 8 {H0928 PT3/4") Ki
1
g N
N% ;ﬁél Al Bl C1 E1 F1 Gi1 H1 Ji K1 L1 MI N1 P Qi R S1 T Ui Wi X1 ¥
H-0928 9 108 25 8-M6x10 6-M8x15 110 76 58 44 15 34 53 4 4M4xi7 5 PT1/4° 6 116 M34xi5 32 15
H-1036 11 1205 25 6-M5x10 6-M10x17 126 8388 68 53 15 38 64 4 6M5x12 5 PT3/8 6 136 Madis 42 14
H-1038 11 1205 25 6-M5x10 6-M1Ox17 126 88 68 53 15 40 64 4 6-Msxi2 5 PT3/8 6 136 MMxls 42 14
H-1236 11 1265 25 6-M6x12 12-M10x20 135 98 76 47 15 38 76 4 4-M5xi2 6 PT1/2° 6 169 Ms52x15 50 14
H-1246 11 1265 30 6-M6x12 12-M10x20 135 98 76 47 15 50 76 4 4-M5x12 6 PT1/2° 6 169 M52x15 50 14
H-1546 11 1335 30 6-M6x12 12-M10x20 145 110 86 47 15 50 8 4 4Mexiz2 7 PT1/2° 6 188 M58x15 56 135
H-1552 11 1335 30 6-M6x12 12-M10x20 145 110 86 47 15 55 8 4 4Mexiz2 7 PT1/2° 6 188 M58x15 56 135
H-1868 175 1525 35 6-M6x12 12-M10x20 1665 1556 101 47 15 70 108 4 4-Méxi2 75 PT1/2" 6 215 M8dx2 81 125
H-1870 175 1525 35 6-Me6x12 12-M10x20 1665 155 101 47 15 75 108 4 4-Méx12 75 PT1/2" 6 215 M8dx2 81 125
H-1875 175 1525 35 6-M6x12 12-M10x20 1665 145/55 101 47 15 80 108 4 4-Méxi12 75 PT1/2' 6 215 M84x2 81 125
H-1878 175 1525 35 6-Me6x12 12-M10x20 1665 1556 101 47 20 82 108 4 4-Méxi12 75 PT1/2° 6 215 M84x2 81 125
H-2078 21 1665 35 6-M6x12 12-Mi2x24 182 166 110 47 20 84 120 4 4-Mexiz 7 PT1/2° 6 240 Ma9x2 96 20
H-2085 21 1665 35 6-M6x12 12-Mi2x24 182 166 110 47 20 89 120 4 4-Mexiz 7 PT1/2° 6 240 Meox2 96 13
H-2091 21 1665 35 6-M6x12 12-Mi2x24 182 166 110 47 15 95 120 4 4-Mexiz 7 PT1/2° 6 240 Maox2 96 13
H-2511 27 1845 45 6-Mex12 12-M16x32 197 206/215 129 55 20 123 160 5 4-Méx12 7 PT1/2° 6 294 - 1346 -
H-2511S 21 1685 45 6-M6x12 12-Mi6x32 192 206 132 55 20 123 160 5 4-Mexi2 7 PT1/2° 6 294 -~ 1346 -
H-2416 20 2025 45 6-M6x12 6-M16x32 2105 - 1605 46 20 170 240 2 4-M6x12 55 PT1/2" 6 345 M742 171 4
Bleg \ A w w
Model ¢ Y - 3 © N L i . Q S L v max. min. max. min. & 2
H-0928 120 100 80 65 44 M38x15 28 25 63 44 59 76 90 105 151 14 4 35 25 3 5
1 H-1036 136 115 100 65 48 Md2x15 36 32 71 55 73 8 104 115 1745 15 0 39 24 25 5
H-1038 136 115 100 65 50 Madx1s5 38 32 T 55 73 88 104 115 1745 15 0 39 24 25 5
> H-1236 155 130 100 80 65 |puogqs 36 36 76 64 8 98 118 114 179 15 0 40 25 4 5
H-1246 155 130 100 80 65 MsExe 46 36 76 64 8 98 118 114 179 15 0 40 25 4 5
o H-1546 190 170 130 85 65 Mssxe 46 36 84 73 96 114 137 130 1905 22 0 475 255 35 5
H-1552 190 170 130 85 70 Meoxe 52 36 84 73 96 114 137 130 1905 22 o] 475 255 35 5
m H-1868 215 190 160 120 85 M7sxe 68 36 95 98 121 140 165 158 225 25 v] 50 25 3 5
H-1870 215 190 160 120 95 M78x2 70 36 95 98 121 140 165 159 225 25 0 50 25 3 5
= H-1875 215 190 160 120 95 M8Exe 75 36 95 98 121 140 185 158 225 25 0 50 25 3 5
-— H-1878 215 190 160 120 95 M87x> 78 36 95 98 121 140 165 158 225 25 h] 50 25 3 5
(o)) H-2078 240 215 180 140 110 pMooxe 78 36 104 108 138 158 182 177 248 23 0 85 32 3 5
H-2085 240 215 180 140 110 o3> 85 36 104 108 138 158 182 177 248 30 0 55 25 3 5
H-2091 240 215 180 140 110 Mi00x2 ©91 36 104 108 138 158 182 177 248 30 [h] 55 25 3 5
H-2511 310 275 230 166 140 mMi30x2 1175 36 101 148 178 190 232 215 290 24 1 338 15 3 [
H-25115 310 275 230 166 140 Mi30x2 1175 36 101 148 178 190 232 215 258 24 1 38 15 3 8
H-2416 340 300 260 - 190 M180x2 166 50 129 188 200 260 300 235 2995 35 ] 65 25 15 5

FREEFELHMER, BFBTIEH Subject to technology changes without prior information
IFEEKFATH Non-standard requirements can be made



